_ 7000
<+ 107 g
> —
a) -
(\D/ -
. 10 =
Q —
E |
% 1 RS
=) %ﬁ
(Vp] |
Z |
< -1
= 10" ="
102 5
=y
10° =
= o
-
10_4 . D.
107 = "
107° =
2 E
o
2 9
O | 2
S
o
S
o

NSD

GeVpp

PT(K) (NSD, ly| <2)

- Pythia 6.428 353
- Pythia 6.428 354
- Pythia 6.428 355
- Pythia 6.428 356

Pythia 6.428 357

Pythia 6.428 358
- Pythia 6.428 359

CMS_2011_S8978280

Rivet 3.1.10, = 2.2M events

IIII|IIII|IIII_W|_ IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| L1

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


